[ Efficiency vs vertpos |
~ 0.05

9.045
4
20.04
(8]
$.035
[
£0.03
0.025
0.02
0.015
0.04
0.005

.................................................

.................................................

............................................

............................................

LALANRARRNRRRRN RAREDREREY LERRE RRLLE RN}

Ratio
P
al

TTTTIq XTI [T [TTTT[TTT

1

10 0?
TP vertr (cr%)

P17

asdTThHé)

p3_TT ck P| ?fs
TT e; -relf2.

p3_TT defaultNEWTOLDSAMPLE-relf2

[ofeXeXeks:
TO

Efficienq ——

~ 0.021 ; ; ; ; ;
R S S S S
016F : : : : :
014F

e_E;cmacy_dgs \_@rt

10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |
~ 0.05
> E E E E E

00.045F -+ preyees priyeees AR
S : : : :
T A

B.085f -+ bbb
) E : : : :
S 0,03 ----erberemm e e
3 E : : : :
D.025f - +-heeeeee e e
@ F : : : :
S R (oS L S
T R T . T &
e r%:,j:'i e AT T
S [ 2 SR M 20
o Op-—rhmngbin i e
T L2peee ERPRRR E N S R T e
m : . . -+ H

5Ty R Ty p— ' 5 10
Sim. PV z (cm)



	Contents
	Page 1


